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sA+ 087 X 0.37 X 1.00 = 0.32
= 0.30 + 0.32 0.62 m°
TR AR T t=10cm HAUHAEA (RC-30) 0.87 X  1.00 0.87 m?
E AT t=11lcm L S HE F A (M=-30) 0.87 X 1.00 0.87 m?
R AE T 4+ 074 — ( 0.62 = 090 ) 0.05 m?
BT | TAT77UNE | 0.87 X 0.05 0.04 m3
eyt | TATFUNE | 0.04 X 2.35 0.09 t
(frfizs)
zBT t=4cm AR ET Aay 0.87 X 1.00 0.87 m’
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i + 8o 0.74 m
il WEI R 077 m
= A+ = Ea e 0.17 m
e HWRL o=
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g BELEGEAED)
ol 2 A Hi g 5 cm
& o
K = * = 5 cm
g
B 10 cm
T R 10 cm
T ff FEIR~Tik # B =Y HAL &
AL U T t=20cmET .00 X 2 200 m
SPEERUET. | TA770b t=5em | 0.77 X 1.00 0.77 m?
IR I T NIk 0.77 X 0.86 X 1.00 = 0.66
By PERR /4 X 7 X 017 2 X 100 = 0.02
i 0.66 — 0.02 0.64 m?
MM R R T FAE+ 0.77 X 0.39 X 1.00 = 0.30
sA+ 077 X 027 X 1.00 = 0.21
= 0.30 + 0.21 051 m’
TEET t=10cm FHAYLAEA (RC-30) 0.77 X 1.00 0.77 m®
E AT t=11lcm L S HE F A (M=-30) 0.77 X 1.00 0.77 m?
R AE T 4+ 064 — ( 0.51 0.90 ) 0.07 m?
AR T | TAT7 NS 077 X 0.05 0.04 m3
eyt | TATFUNE | 0.04 X 2.35 0.09 t
(frfizs)
zBT t=4cm AR ET Aay 0.77 X 1.00 0.77 m®
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B R 10 cm
T R 10 cm
T ff FEIR~Tik # B =Y B
AL U T t=20cmET .00 X 2 200 m
SPEERUET. | TA770b t=5em | 1.30 X 1.00 .30 m?
IR I T NIk .30 X 096 X 1.00 1.25
S AR 5 .01 X 0.80 X  0.80 0.65
i 1.25 — 0.65 0.60 m*
F B T 84+ 130 X 0.76 X 1.00 0.99 m’
=VZURS Vi e: S 5= VR [h& 0.65 0.65 m°
By PERR /4 X 7 X 017 2 1.40 0.03
i 0.65 — 0.03 0.62 m*
27— NEE 062 m®
TEET t=10cm FHAYLAEA (RC-30) 1.30 X 1.00 1.30 m?
FE AT t=11lcm L S HE F A (M=-30) 1.30 X 1.00 1.30 m?
R AE T 4+ 060 — ( 099 -+ 090 ) -0.50 m°
HAAEET | 7AT77AME | 130 X 0.05 007 m®
eyt | TATFUNE | 0.07 X 2.35 0.16 t
AL T )Y —hik 065 m®
ALy YY)k 0.65 m’
TS
zBT t=4cm FABRIET Aay 1.30 X 1.00 1.30 m?
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B R 10 cm
T R 10 cm
T ff FEIR~Tik # B =Y HAL &
AL U T t=20cmET .00 X 2 200 m
SPEERUET. | TA770b t=5em | 1.95 X 1.00 1.95 m?
IR I T NIk 1.95 X 145 X 1.00 2.83
By PERR /4 X 7 X 022 2 X 1.00 0.04
2 2.83 — 0.04 2.79 m?
MM R R T FAE+ 1.95 X 125 X 1.00 2.44
B3 53 YElR 095 X 095 X 095 0.86
Wem Beme e 1,15 X 1,15 X 0.15 0.20
2 244 — 086 —  0.20 1.38 m?
Bz r)—b )b 095 X 095 X  0.95 0.86 m’
Tl 095 X 095 X  4.00 3.61 m?
e Famt 1T .15 X 1.15 1.32 m?
TEET t=10cm FHAYLAEA (RC-30) 1.95 X 1.00 1.95 m?
FE AT t=11cm B E R (M-30) 1.95 X 1.00 1.95 m?
R AE T 4+ 279 — ( 1.38 = 0.90 ) 1.26  m?
AT | TAT7 NS 195 X 0.05 0.10 m3
eyt | TATFUNE | 010 X 2.35 0.24 t
TS
zBT t=4cm FABRIET Aay 1.95 X 1.00 1.95 m?
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g BELEGEAED)
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S o
lj[?u Q * = 5 cm
B 10 cm
T R 10 cm
T ff FEIR~Tik # B =Y HAL &
AL U T t=20cmET .00 X 2 200 m
SREERUET. | TA770b t=5cm | 0.82 X 1.00 0.82 m?
IR I T NIk 0.82 X 0.87 X 1.00 = 0.71
By PERR /4 X 7 X 022 2 X 100 = 0.04
i 0.71 — 0.04 0.67 m*
MM R R T FAE+ 0.82 X 0.35 X 1.00 = 0.29
sA+ 082 X 032 X 1.00 = 0.26
= 0.29 + 0.26 055 m’
TEET t=10cm FHAYLAEA (RC-30) 0.82 X 1.00 0.82 m’
E AT t=11lcm L S HE F A (M=-30) 0.82 X 1.00 0.82 m?
R AE T 4+ 067 — ( 055 <+ 090 ) 0.06 m?
AT | TAT77 NS 0.82 X 0.05 0.04 m3
eyt | TATFUNE | 0.04 X 2.35 0.09 t
(frfizs)
zBT t=4cm AR ET Aay 0.82 X 1.00 0.82 m’
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T Hikg -~ G ) = B o&E | B
E N TES 4 200 IIr st ol o«
TEEFEBREME |BHA ), W5 e 1.0 K
IR ES PRERE ¢ 250 = 1.00 1.00[ m
BEERE ¢ 200 1.09+4.0 = 5.09 5.09| m
BEERE ¢ 150 = 265 2.65| m
SUS# ¢ 150 = 1.87 1.87| m
HRERE YT ¢ 150 B R 22 i+ AE BB 220 P = 4.00 4 |
SUSE It ¢ 150 1| n
B A e $ 250 1.00 X 44.49kg/m = 44.49
¢ 200 5.09 X 35.80kg/m = 182.22
¢ 150 2.65%27.21kg/m = 72.11
/NEE = 298.82
SUSH® 1.89%20kg/m = 37.80
/NEE = 37.80
il = 336.62 337 | ke
Bl L5y k2597 = 298.82 299 | kg
Bl L5y SUSRAIFv T = 37.80 38| kg
O FpERfE 1| T
BRERE R B 77V ¢ 200 L 14
BRERE R B T VT ¢ 20 1] =X
TV T ¢ 200 1| &pT
TIUVHET T $ 200 1.0 | f&HT




[5-4. R FEAHME BER) ]

T f# Bk - ~Tik & & | BAL
WEARR TR E—F— - E - A5 20| &
EELOIHE SR A BRE D 2.0 X%
FaE AR [ AT 4.0 %
UG E M L F S e 2.0
R 7 ELE | AT LA 6 15

it R
3.44+0.24+(0.24+0.24)%2+0.49%2+(0.24+0.67+1.14)x2 = 9.72
0.49%2+(0.16+0.16+1.50)%2 = 4.62
7 14.34 | m
AN TR B TE 14.34%20kg/m 286.8 | kg

BLA& #4015y RF UV ART T 286.8 | kg




[5-5. R FEAHME (BR) ]

T fl LRS-~ =Y /| HAL
IS S E - 0B E T 10| &
PCBo#T & [GEZN s RES 1.0 | Mk
R TR E- 0SB AT 10| &
mTEAARNE [ ER- Ao EE T 10| &
TR S E(PB
ate) E - LB E T 1| =X




[5-6.35 N %]

T fl LRS-~ B B = ¥ & | AL
T AT 7 MMy A — LNEEEX LY
EZETINT T t=20cmET 12.80+8.0 20.90 2090 | m
T AT 7 Vb
SE T t=10cmPL T 20.80+8.40 29.20 29.20 | m2
N'7870.06m3 YN R R LY
B9 &I g+ 10.54%0.01 0.11 0.11 | m3
R IE T 29.20+47.73 76.93 76.93 | m2
FE t=hcm
SEEEIRT AL 29.20 29.20 | m2
RC-30 Ak YA
) — MRS R T | =10 47.73 47.73 | m2
LNEEEX LD
) — g T t=10, EEE& A1) 47.73 47.73 | m2
#&4+ 10t L=1.5km
ALy T g+ 0.11 0.11| m3
10t L=1.5km
7R T T AT 7N 10.54%0.04+(29.20-10.54)%0.05 1.35 1.35| m3
sy UYan g [ 0.11 0.11| m3
sy UYan g 7 AT 7 VN, 1.35%2.35 3.17 3.17| ¢
27V AEL H=0.85m
#HLbR— L ERE AT 8.0 &
H=1.8m
FYNT U ARE ML 186 m




[5-7. 3@ % ]

T fl LRS-~ B B = ¥ & | AL
BRA T
FaB R RiZLHR B 1.00| =X
e {4 FERREEFERIOH) 400 &
R 75 Py
LR RiBHEE 2N/B5 X5 H = 10.0
TR H e
IA/BX5H = 5.0
PR R B
2N/Bg X 1H = 2.0
Bhag s — hak b
LA/ X 1H = 1.0
TH R A1 1 B
IA/BE X 1H = 1.0
it = 19.0 91 A

By —MEPE 3%{H=2.0m
IR H=2.0m V—2#iR12 A 14.00| m




